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Answers to Student Book text questions
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2P(s) + 3I2(s)  2PI3(l)


3CH3OH(l) + PI3(l)  CH3I + P(OH)3(l)





CH3CH2OH(l) + [O]  CH3CHO(l) + H2O(l) CH3CHO(l) + [O]  CH3COOH(l)


The [O] is symbolic of the oxidation by acidified potassium dichromate(VI)
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As it fumes with PCl5, this suggests it is an alcohol. It is not oxidised by acidified potassium dichromate(VI) so it is a tertiary alcohol.
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Depletion of ozone layer, narcotic effects and at high temperatures they produce toxic


fumes, etc.
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The strength of C—Cl bond means that they are difficult to break down.
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1    Reflux with aqueous sodium hydroxide – substitution reaction – to produce propan-1-ol
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Reflux with alcoholic sodium hydroxide – elimination reaction – to produce propene
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